f_ GEmaux

f_ GEmaux

water technology
PART LIST
THHEFER
mE | BHES P AR/ AR th 3z e
Key No. | Part No. Description Chinese Qty
1 03011007 | M4x12 Screws M4X 1282 22 4
2 04014062 | Lighted Switch wATIR AT x 1
Receiving Electronic Board (220V .
3 EVI0102 | (o o B F IR 1
Receiving Electronic Board (110V -
3 ENI0103 | S0~ o W B FIR 1
4 03011196 | M3x6 Screws M3X 6428 22 6
5 89480101 | Control Box =l 1
6 04014013 | Cable Gland B 244 4 Sk 3
7 87013019 | Plastic Fitting % Bi B I 4
7 03011023 | MS5x35 Screws M5X3582 ¢ 4
Remote control with Battery
8 E110105 (EMAUX) EIESRER M 1
9 01360015 | Panel Board 1= HI FE PR AR 1

water technology

RGB SERIES UNDERWATER LIGHT
CONTROL BOX
RGBA TN Z T2 %146

Model: RGB-CB
Code: 08040009 (220-240V 50/60Hz)  08040020(110V 60Hz)
Keep this manual safe for future reference

ERBERRABUAEER

APPLICABLE FOR UNDERWATER LIGHT:

LED-P100/LED-TP100/LED-CP100/E-Lumen/EL-NP300/EL-H200/EL-S100/EL-S300/ELCOMP

ERTARINERKAT:

LED-P100/LED-TP100/LED-CP100/E-Lumen/EL-NP300/EL-H200/EL-S100/EL-S300/ELCOMPHI[EI T #AR T 7K KT

Warning:

it

This electrical control box must be installed by a licensed or certified electrician or a qualified serviceman in

accordance to the requirements of your government standard or local authorities. Improper installation will

create electric hazards which could result in serious injury, death as well as damage to the property.

AREFIEHELARSHNETHEFENEIFARRE, HZBAFARESTIRZERARE, TELHNRE, K25l

EMBESHEFIEFEEREIRRARTEHERMYIRE, EERT.

CUT THE POWER BEFORE SERVICE AND MAINTAINANCE!

PR TR YENE B TR HIFE < BT S E HE FE A R R BT !

INSTALLATION EXPLAIN

[rm} Jtlﬁﬁﬂ

1.Remove the Panel from the Control Box, position the box to the desired fitting place and mark on the walll
with the location of the drilled holes, then drill 4 holes of @8mm on the marked position and insert a plastic
fitting, secure the box by fastening 4 screws of M5x35 to the plastic fittings(See diagram below).

1 E SR IHERIFERR, HERIEETH ESENSEHFRINANRETNL, REERLARBMTLAFF 4 a8mmiy
Flo BINBEBKRCRIE F4FIMSx35H B BUR LT R E B s £ (SR THEREE ) .

CONTROL BOX INSTALLATION DIAGRAM Control Box
ERIEREE R

Plastlc Fitting
ORRETAL

M5x35 Self-

Tapping Screw
M5x35
SPECIFICATIONS Bige
HEES
Work temperature o
TreRE 0-35°C
Input voltage AC220-240V, 50/60Hz
BNEBIE AC110V, 60Hz
Output voltage AC220-240V, 50/60Hz, 2*300W
HHEBE AC110V,60Hz, 2*300W
Frequency RF
Y g 433.92MHz

EMCB22040902



f_ GEmaux

water technology

%‘
CONTROL BOX WIRING DIAGRAM

RINEATIEHIFEIZAT ~EE
AC 220~240V(110V)

| . — > -~
5%]‘);\. Control box = =
AC 220-9a0y | TEHIFE AC 220~240V(110V)
(AC110V) - AC 12V

v AC 12V

O

POOL
@ 24wLED Light

A 300W Tranformer

D

VA Warning: load of the control box should not exceed 2*300W.
D . B EHIBGERHENT2300W

CONTROLS INDEX %575 3%

INSTRUCTION:

. Switch on the "POWER" switch to turn on themain power, the POWER LED wiill light up.

. Press the “POOL" button to switch ON/OFF or change color for all the underwater lights connected to
the POOL outlet.

. Press the “SPA" button to switch ON/OFF or change color for all the underwater lights connected to the
SPA outlet.

. Press the “POOL & SPA” button to switch ON/OFF or change color for all the underwater lights
connected fo both POOL and SPA outlet (Remark: To sync the underwater lights connected to the
POOL and SPA outlet, press the “RESET" button).

. Press the “RESET" button to reset all the underwater lights connected to the POOL and SPA outlet, to
white color.

R FE P RIS

o ITHREREFX, “POWER"TR, EMTHIFHEBEBEAS.

% “pool"#, ATF#EHlpooliXx—IEKITHF XS EIEK,

% “spa"$E, ATFiRHlspaX—HKATHFXRSHETIL.

1% “pool&spo”ﬁz, FAFiEflpoolfMspaiX FEE K AT F R S5E BT .

% “reset"§t, TBSSHKIHEMABERTE. GE: MERMHEHRETNREEL, SRBELER
“reset"$i, SRIFEIR “pool&spa”#E.

PATTERN TABLE #1&x %

No. PATTERNS No. PATTERNS
Fs B3R Fs HR

1 |Static white #5588 6 |[Static yellow §7&#HE

2 |[Static blue BEEER 7 |Three-color change = &k

3 |Static green E&##s4Eta | 8 |[Seven-color change &3 . T
- POOL SPA POOL

4 |static cyan BEBE 9 Seven-color gradual change ONIOFF ~ ON/OFF & SPA

(Fash £ & # T (R

Seven-color gradual change

(Slow) t&#HT{AEE)

5 |Static purple g5 %® | 10

box! POWER

f_ GEmaux

/))J

water technology

Se“lng of the Remote Controli£iZ 51X & :

Operation distance for the remote control is 25m.
BROEEEE25K.

Sync button
Eik:cd

Control box

Frequency Setting

25m— TS

Each control box is associated with a remote control. To use a single remote to control a multiple number of
control boxes, you would need to configure the Frequency at the back of the remote control. The
Frequency of the Remote would then need to be synced with all the control boxes.

BMERIFESRES— MBS, WREBER—MEERTH S /MESE, CEEREERTEMRRENHITE
—, RIEESHREREHIFE.

¢ Slide open the back of Remote Control

o Set the Frequency

e Turn on Control Box(es)

¢ Sync the Remote to the Control Box(es)

e Press the Sync Button until the lights on the Control Boxes turn on
o BEIERBEMEBHLE

o REF NIRRT

o BapiTHIERIR

o BEITHRETIERIEEL

o RTENHE, HEITHMELNIR

If you have multiple control boxes and you want to use a remote control for a specific control box, you must

set the Frequency on the remote control to a uniqgue combination.

MREBZEEHIME, BEMBEFR—N—RHE, SOIUSERRE MR RDRENRTREIE.
e Slide open the back of Remote Control

e Set a unique Frequency on the Remote Control

e Turn on the Conftrol Box associated with that particular Remote Control

¢ Sync the Remote to the Control Box

e Press the Sync Button until the lights on the Control Box turn on

e Once synced, furn off the control box and move to the next set of Control Box and Remote. Repeat
above steps.

o BFEEREEMELE

o EEEHR FRERERSNE R

o FTFECI HOIEHIFE IR

o HEITRE T HEXMIEHIES L

o RTEPHE, HEITHME NS

o —BREIW, XFITHIFEEIR, #HITT—HETFIHEMEERE. EELRAPE.




	页 1
	页 2

